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question was
asking

manufacturing lawn mowers is
y = 0.008x2 - 0.04x + 75. What
number of lawn mowers should
be produced to minimize costs?
What is the minimum cost?
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after x second is given by
y =-16x2+ 128x. Whatis the
maximum height reached by the
rocket and how long does it take
to reach that height?
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9. Compare
quadratic
functions
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15. Compare the vertex,

y-intercept, and rate of change from 1 £x <2

for each of the functions. Which function has the highest vertex,
largest y-intercept, and greatest rate of change?
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